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18U/101/23(Set-1)

No. of Questions : 150
UeAl @ G ;150
Time : 2% Hours | [ Full Marks : 450
.91
Y 2 H] [ qurfg: 450

Note: (i) Attempt as many questions as you can. Each question carries 3 (Three)
marks. One mark will be deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

HieBIE HTHl BT B B B 5 B | GAS UeA 3 (@) of w71 2| g
el SR @ [ofY U (% BIer T | welid e w9 @ ureis gy 2

(if) If more than one aliernative answers seem to be approximate to the correct
answer, choose the closest one.

afx THIrE AHeE SR T SR & Fiae add &, @ Seean W@ s ¥
1. Which is the right sequence of management functions ?
(1) Planning, Organising, Staffing, Directing, Co-ordinating, Controlling
(2) Planning, Organising, Directing, Staffing, Co-ordinating, Controlling
(3) Planning, Organising, Staffing, Co-ordinating, Directing, Controlling
(4) Planning, Organising, Directing, Co-ordinating, Staffing, Controlling
JaRIBIT HTAT BT BIA-7 8] F9 8 7
(1) Frns=, dmres, =i, feee, wwega,
(2) o, wres, iy, wrfther, waeaa, s
(3) fAareE, wmes, wifth, aaeay, fadem, Mo
(4) FrErq, dmem, dem, wweaa, weifhn, Adam

2. Free-rein direction’ means ;

(1) Do whatever is appropriate (2) Do whatever vou like

(3) Do whatever you feel convenient  {4) Do whatever you feel appropriate
fRatu Fwm & s 8

(1) o ST & a8 & (2) T AUD TFE E TE PN

(3) o amgs forr gflemore & g W (4) T 9H SHA T aE B

(3) ki 1 6 2
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18U/101/23(Set-1)

3. Anorganization engaged in purchasing and selling of services i called -

(1) Business organization (2) Trading organization
(3) Commercial organization (4) Industrial organization
oF e o dand @ wa-fown § wor @ 99 $e1 G 2

(1) @mgaEids JA7e (2) @maRe WTeH

(3) arftrfoas HieH (4) aheafie WTeH

4. From the following which is not a factor affecting decision relating to selection of

a direction technique ?

(1) Nature of subordinates (2} Nature of work

(3) Nature of customers (4) Nature of peers

e 4 Q BF-ar BN FRyE @ TEe @ age I e T8 R § 7
(1) seliFRenl @ i (2) @d & wPHfa

(3) wED | APR (4) T afeE @ mphy

5. Which of the following form of organization is the most fertile place for
innovative ideas ?

(1) Project organization (2) Functional organization
(3) Committee organization (4) Matrix organization
Prfafag # § S9-91 9789 & T o0 [AaR) &1 Faom SUHS Wi 8 ?
(1) aR&AET e (2) FrRtE® TTE
(3) FHE wTEA (4) HfgTd wTeT
6. 'CPM was developed in:
(1) United States of America 2) Japan
(3) Germany (4) France
wigy (CPM) R gar -
(1) wgaa U awRa § (2) I #
(3) T H (4) w1 A
7. "Management means decision making.” This statement is of ;
(1) Moore (2) Simon (3) Davis (4) Appley
vy @1 ey Fetga | 2 ae wua
(1) R & (2) SETH FT (3) 2w F (4) TS o
(4)
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18U/101/23(Set-1)

Which of the following is not an element of sound departmentation ?

(1) Control (2) Co-ordination (3) Specialization (4) Supervision
=1 % 9 Im-91 gge fwrfieve &1 o 78 & °
(1) fa=m (2) HEg (3) fafdrrawo (4) gddEm

The formulation of future course of action by the management keeping in mind
the competitors expected course of action is called :

(1) Programme  (2) Objective (3) Policy (4) Strategy
sfeaifiral @& wfdd fhaream &) w9 & wad g0 v g Wi e @
HRIUTES 1 HET o1 ¢

(1) &Edwd (2) gy (3) -fa (4) 2oriifd
Scientific concept in management was propounded by :

(1) Emerson (2) Gantt (3) Fayol (4) Tavlor

vay & &3 § duife uew @) [Quieurr @1 gfdurga fear

(1) 999 3 (2) v A (3) W (4) <o A

T'he focus of planning is :

(1) Objectives (2) Policies (3) Methods (4) All of the above
frem &1 o &g g 2 )

(1) 853w (2) e (3) fafort (4) Jug@ W

When the subordinates have become indisciplined, the most suitable technique
of direction will be :

(1) Democratic technique (2) Autocratic technique
(3) Free-rein technique (4) None of the above
wq e SEEEE 8 T g @ Py @ waw suga adHe el
(1) WATdISS qH-D (2) ATATIME THAID
(3) fa a&ile (4) TR H W FrE T8
Find out the odd from the following with reference to the types of co-ordination :
(1) Internal co-ordination (2) Self co-ordination
(3) Vertical co-ordination (4) Horizontal co-ordination
T B vPRl @ b ¥, fy=fafea # 9 faww &1 sma S
(1) AARS JA<E (2) W@ =Y
(3) T9dd Y (4) &R Wiy
(5) P.T.0.
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14,

15.

16.

17.

18.

Direction mcludes .

(1) Order (2} Supervision (3) Guidance (41 All of the above
(1) 3y (2) e (3) ArtgY (4) SURTEE Wit

Which of the following is not true ?

(1) Request in line organization flow from boltom to top

{2) One number organization 1s possible

(3) Informal organization is formed naturally

(4) Line organization is most suitable for small uniis
fefieg 4 @ oF-a1 68 F8F e 0

(1) <@ |ST ¥ Fde7 S 1 Tww o) warfder o

(2) UH Gewha @red Wi 8

(3) srgaiia Hed wiefos w9 & Afa g @

(4) BT gHTEAl B XU e Wata SWEd v @

The monetary policy is announced by the

(1) Governor of RBI (2) President of India
(3) Prime Minister i4) SEBI

Aifgd Ffa oifta & ol &

(1) Rid 4 ofiw 31 & ok gm1 (2) 9Ra & weaf g

(3) WEITHEAT BT (4) Wdl (SEBI) g
United Trade Union Congress is an organization of :
(1) Workers (2) Businessmen
(3) Producers (4) Leaders
TAREE ¢8 THIT i e 2
(1) &Rl @ (2) Tt &)
(3) Turgaaial (4) 13N b
Regulatory environment includes :
(1) Fundamenta! right (2) Fund
(3) Capital (4) Society
Mame e § afnfeg @
(1) Yo Famr (2) AR
(3) T (4) T

(6)
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Who was closely e - - -
ho was clua.ely assoclaled with Industrial relations in India ?

li B. Kuric{: (2) Gadgil (3) V.V.Giri (4) Vinoba Bhave
"PHET WX 4 e wee @ o Rean/ e @ @ ?
(1) dlo BRI (2) mefire (3) do dlo MR (4) Rr=rar wmd

The major provisions for employees health and safety are contained in -
(1) The Industriai Disputes Act, 1947

(2) The Factories Act, 1948

(3) The Industrial Employment (Standing Orders) Act, 1946

(4} The Employees Compensation Act, 1923

FHYIRET & VT Ud YR W WG e e e &

(1) 3ienfrs fRare sfofwm, 1947 4

(2) wEE sfefE, 1948 4

(3) Frentra [FoeE (Vs e AfRfEg, 1946 9

(4) ®Far afgfd aferzs, 1923 3

What is the method used to determine wage differentials ?

(1) Merit rating (2) Job design
(3) Job evaluation (4) Job analysis
ereTs gl e A fbw R @1 g @ 2

1) ufke feEm (2) &1 fewigH
(3) S FATHA (4) @1 Rreeyor

The Industrial Policy resolution in India was passed in :
wed ® aftenfie A sarg olRa gom an -
(1) 19319 (2) 1947 F (3) 1956 # (4) 1999 4

Under Industrial Policy 1991 which of the industries are reserved for public

~ector ?

(1) Railways (2) Coal
(3} Automobiles (4} Iron and Steel
Henfae HfF 1991 & s=rlo I TUF hwE 83 'y ARM@d 8 ?
(1) Yeid (2) @ie |
(3 PR (4) &TET U4 T
(7) P.T.O.

1 E
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24. The "heavy Industry” strategy of the Mahalanobis model was initiated in-

(1) Firstplan (2) Second plan
(3} Third plan (4) Fourth plan
) TehT wpE AT & HEdNT dtee Y oo €€
(1) WH Ui 3 (2) fada o 4
(3) gdra Do § (4) Fqd A A

25. In which vear Foreign Exchange Management Act (FEMA) was adopted by the
parliament in India ?

(1) 1996 (2) 1997 (3) 1998 (4) 1999

aRE A, g A R R wew sffem (FEMA) &1 fbs o 3 7 e 2

(1) 1996 (2) 1997 (3) 1998 (1) 1999
26. SAFIA isrelated to:

(1) SAARC (2) IBRD (3) IMF (4) IFC

el (SAFTA) TR 2

(1) VR Q) IERMIAQ) IETHWHE (4) J2 s @@
27.  The trade theory of absolute advantage was developed by :

(1) Haberler (2) David Ricardo

(3) Adam Smith (4) Alfered Marshall

oo SrTeTgET W @R g @ Qe e @

(1) &&ei¥ (2) 3Ms Rae! 3

(3) TeA =y 9 (4) AFHE Highd A
28. When the per capita income is maximum, the population is :

(1) Under population (2) Over population

(3} Optimum population (4) Static population

oY it arfew o sfdmes @ ar e @

(1) & ST (2) sy ST

(3) IER FAEE (4) Rer Ty

(8)
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To which of the following, the ‘Golden Revolution' relates to the development
of Agricultural products ?

(1) Oilseeds (2) Pulses
(3) Horticultural products (4) Fodder
“Teed Raregem 3= 4 4 bw W Sewre & e | wwafva 2 ?
(1) faere+ (2) TEET
(3) arTaT I (4) =™
SDR is:
(1) A liability (2) A paper gold
(3) An assets (4) Aninternational unit of currency
TESINR & -
(1) & <fde (2) TH TS GOf
(3) U@ | (4) Ud <RI Afs 3P
Unity of command is violated under :
(1) Line Organization (2) Line and Staff Organization
(3) Functional Organization (4) Scalar Organization
frder &) vdpdl &1 Iodud 2l 8
(1) Y1 dmes | (2) Y41 9@ HHAR) FISA A
(3) fbarers dmes ¥ (4) Awfye we ®
Which of the following concepts has been propounded by F. W. Taylor ?
(1) Committee Organization (2) Functional Organization
(3) Line and Staff Organization (4) Line Organization
frafafas # 9 fg s@uRen &1 gfdued ho $ao SR o fbar 2 2
(1) wfafa wred (2) fharcTd w3+
(3) Y@ g HHAN) HIeA (4) @ |eA
Which of the following is also known as the Scalar Organization ?
(1) Line Organization ' (2) Staff Organization
(3) Functional Organization (4) Project Organization
Prefafag & 9 fF Safaa d1ea @ AR @ N G orar 2 7
(1) g1 Fred (2) HHERN HTeA
(3) fpureqad Hreq (4) g™ wTes
(9) P.T.O.
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18U/101/23(Set-1)

34, Which of the following has its origin rooted in Military Organization -

(1) Staff Organization (2) Functional Organization
(3) Line Organization (4) Project Organization
Meafeifaa 3 9 P gars 9 Faee B TSl 9 ST g # ?

(1) HAar ey (2) fharers wres

(3) ¥ HeT (4) uRAE e

35.  Which one of the following does not characterize a Line and Staff Orgarization ?
(1) Conflict
(2) Expertadvice
(3) Harmony

(4) Vertical flow of authority and responsibility

FrEfeRad | € @ Y@ IR SR wreE ) Qg g8 2 2

(1) e (2) s a@E

(3) THRITT (4) afodRr ik afd &1 saaa vaie
36. The board of directors of a joint stock company is selected by the :

(1) employees (2) general public

(3) government (4) shareholders

9gaT ot ot oo & e wose &1 9a+ fhar s @

(1) FHaRal gw (2) WM ST BT

(3) IRBR &RI (4) afernRay grer

37. Liability of a partner is :
(1) unlimited
(2) limited to the extent of his share in profit
(3) limited to the extent of his capital
{(4) limited to the exient of his share of loss
TE WREN &l glfda
(1) 3= ehar 2
(2) o™ # IFD 39 B Whw go A dar @
(3) Sad ol @ G dd S B 8
(4) SGS B & Y dF Wi gar &

(10)

1 E
collegedunia
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f all the partners are insolvent except one, :

(1) only partnership is dissolved

(2) partnership agreement is dissolved

(3) the insolvent partners are automatically thrown out from the business
(4) partnership firm is dissolved

gfe v 31 BISER AW ARSR Rarfedr &, a9

(1) @9 9N &1 fRue & wm &

(2) |ERER Hider F fdues & o @

(3) fafer wer Wi ¥9 ¥ ogwg & e & 9 &

(4) Qree) wH &1 fageq 8 o R

As per Companies Act, 2013 a company can be formed :

(1) even with one person

(2) with not less than two persons

(3) with a minimum of seven persons

(4) with a minimum of fifty persons

S AfRfm, 2013 & SRR F FRA & Fmi | wear @
(1) @ad & afdd |

(2) 2 ¥ FH @D A TE

(3) P9 A HY AT Afdddl A

(4) 9 A FA IRT Afdaal |

As per the Companies Act, 2013, the limit of the number of members for a
private company is !

(1) Fifty (2) Hundred (3) Two Hundred (4) Unlimited
Feo ARFTER 2013 @ FER UH Aol s & wawil @ w9
(1) o (2) =t (3) =T« (4) srffaa

The combination of units engaged in production of a commodity in upward
stages of an industry is :

(1) forward vertical combination (2) backward vertical combination
(3) forward lateral combination (4) forward diagonal combination
(11) P.T.O.

gcollegeduniaa
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U I W RS R B IR » W) o4 ¥ @i @9 el swea @

HATAT
(1) ST dEad AT 8idl g (2) GeEATA FHAd FArTT B 8
(3) ST T WG g B (4) TN RAmm Baen sl 6

42. When some manufacturing unils combine with a unit engaged n
manufacturing a main product using the products of such combining units as
raw material, it is a case of :

(1} convergent lateral combination (2} diagonal combination

(3) circular combination (4) convergent diagonal combination

wa gu il s Rl R el @ Wy wefia a0 @ @ B o =
I B I F 0 Tuifa w1 Tieh garsal @ IARY ®) Fw A @ wy i
YA @Y I8 &1 dd T g 2

(1) Felf¥gE qree e (2) famoita TR

(3) gl warom (4) B el
43. Cartel is fJormed with the objective of controlling, :

(1) middlemen (2) speculators

(3) service providers (4) sales

Free g W P &9 & IFa90 § g9 olidi 6 7

(1) fagifer ov (2) WAl uy

(3) \a1 WETdIsl U3 (4) fama w
44. Which one of the following is the odd one out ?

(1) ACC (2) Coal India (3) SAIL (4) SEBI

fFrferftad 5 O 4 Qg 2 2

(1) GRiRd (2) &d g (3) & (4) &
45. Which one of the following is a form of federation ?

(1} pool (2) holding company

(3} trade union (4) merger

(Ffeifdad # § B9 HewWA & WET ¥ 7

(1) & (2) LT B

(3} @nul Hy (4) <frer

(12)
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46. Narsimhan Committee was related to :

47.

48.

49.

(1) Higher Education reforms {2) Tax structure reforms
(3) Banking structure reforms (4) Medical facility reforms
Rye afaft e o -

(1) I= e gur 9 (2) HX TREAT QuUR |

(3) dfebr wa W | (4) WRea giaa qur 9
Which organization issues Monetary Policy in India ?

(1) Parliament (2) Reserve Bank of India
(3) State Bank of India (4) Ministry of Finance
ard ¥ difed N F1 ot e e g @ ° |

(1) 9 (2) wRAw Rud 4@

(3) ¥R we 4 (4) fae w=mey

Which of the following is a feature of good money ?
(1) Abundantly available to everybody

(2) Shining and clean coins

(3) Acceptable by evervbody

(4) Perishable

Preifha 4 @ sl 501 & @11 e 2 7

(1) 9 @fdd &1 qgd "l @ Sutard |

(2) THER T W fuad

(3) vaF o wa

(4) IR

Which of the following is #ot a function of a Commercial Bank ?
(1) Ensuring security for loans

(2) Issuing and processing Credit Cards

(3) Dealing in foreign exchange

(4) Controlling monelary policy

(13) P.T.O.
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50.

51.

52.

53.

gt d% @ e § Q@ oF-1 o 78 8 2
(1) o1 &Y GR&IT &1 AT

2) »f¥e &Ew »i B w3t

(3) fagdh fRfma A o

(4) Tifes Jifa @ Fa=o

The International Bank for Reconstruction and Development (The World Bank)
was established in the year:

R gafater aur e 4 (R d9) & 2o g8 N

(1) 1944 # (2) 1945 4 (3) 1951 # (4) 1961 ®
Who regulates the business of mutual funds in India ?

(1} Reserve Bank of India (2) Ministry of Finance

(3} SEBI (4) Stock Exchanges "
Wi W R[EHS B9W B @AAE BT PRI P Al # 7 |
(1) waw Rod & (2) fae w3

(3) ¥l (4) weer fufdm

Fixed Deposit 1s also referred to as :

(1) Term Deposit (2) Recurring Deposit

(3) Demand Deposit (4) Current Deposit

4% @ frere w = af¥ (Fixed Deposit) @1 ST Smar &

(1) e fedifore (2) Y& fedifere

(3) femre feuifore (4) e feuifse

When criminals use innocent persons detail to open or use an account to carry
out financial transactions, it is known as :

(1) Money Laundering (2) Phishing
(3) Identity Theft (4) Real Time Gross Settlement

wWﬁ,Wﬁmmﬁ%&W%ﬁawmmew@m
H TOIATT F B, a1 IV dped &

(1) 391 ofif=g (2) bl
(3) amgefed e (4) Raa ezw ufg Jcaie

(14)
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In the field of banking sector, what is the full form of ECS ?
(1) E-commerce Service

(2) Entity Component System

{(3) Embodied Cognitive Science

(4) Electronic Clearing Service

dftner e 4 ¢ W v (ECS) @1 sfwrg fea g 91 8 7

(1) g-wiaei afdw

(2) tfed diHe Ren

(3) mHIfgs iffaiea g

(4) ZoggiM® FARRT Hdg

Which of Lhe following organisation provides guarantee to the exporters ?
(1) Exim Bank

(2) Export Credit Guarantee Corporation

(3) Director General of Foreign Trade

(4) Reserve Bank of India

frataet & FyafaRed d 9 s-a Wred T ugE B g ?

(1) 3R 9@

(2) Fam arg RS s

(3) wEfRed fagsh amR

(4) e Red @@

Which of the following organisalions issues the rules of global trade ?
(1) World Bank

(2) International Monetary Fund

(3) World Trade Organisation

(4} International Finance Corporation

aftgs amr & A o PReEfafaa 5 @ sF-ar duea Feifia e g ?
(1) fvg <&

(2) dr=Rigr T Py

(3) favg @R AT

(4) =Rt g e

(15) P.T.O.
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57.

58.

59.

60.

The headgquarters of IMF and World Bank are Tocated at :

(1} Geneva and Montreal (2) Geneva and Vienna

(3) New York and Geneva (4) Washington DC

A3 T UF UF QW o & [y Rud €

(1) R v wifgaa ¥ (2) Rar g fauem #

(3) =y vd foryar # (4) al¥fTeT =M #

Which of the following is a retail banking product ?

(1) Home loans (2) Working capital finance
(3) Corporate term loans (4) Infrastructure financing
Hede dfeT Iarg e 9§ 4 eta-w R 2

(1) TR F (2) @rider doit fag

(3) i waamEie s (4) @rgRaTETS o

What is the full form of 'NSE' ?

(1) New Service Exchange (2) New Stock Evaluation
(3) National Stock Exchange (4) National Service Emporium
T T4 § (NSE) &7 Q0 %Y ayp ¢ ?

(1) = wfds gaae (2) ¥ R A

(3) e i saFa (4) Jea afda vl

The abbreviation 'EMV' stands for :
(1) European Marginal Vat

(2) Expected Monetary Value

(3) Essential Monthlv Voucher

(4) Europay, Master Card and Visa
3@ (EMV) &7 Iof w9 & :

(1) ity sifdsa 7

(2) gaquacs witved doy

(3) Ry woret araa

(4) N, ARER FIS T A

(16)
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Which of the following statement related to Perfect Compeltition is not correci ?
(1) The price elasticity of demand is infinity

(2) AR s equal to MR

(3) Buyers have perfect knowledge of market

(4) Firms earn supernormal profit in the long run

gt gfdaifivar @ weha fFefofaa 4 & sh-w a9 o 38 2 2

(1) 7 & @tHa &g o 8l 8

(2) AR 3R MR @@z €1d &

(3) el B aroR B g AFET P @

(4) wi Qe ¥ afevsd anr aftfg R gad &

According to the law of diminishing marginal utility :

(1) Total utility is at a maximum with the first unit

(2) Increasing units of consumplion increase the marginal utility

(3) Total utility will risc at a falling rate as more units are consumed
(4) Marginal product will fall as more units are consumed

A Suafiar g9 @ IR

(1) WM 36 W & guairar sfohas g 2

(2) Iwdrr A gaE ¥ gfy deia sudfian | gfg ) 2

(3) fE geBTgaT B ITAFT HI W HA ST Hed &R F F@dt B
(4) 3fd gorsal B TN ¥ VHid IR gedl 8

The law equi-marginal utility is otherwise called as:

(1) Law of substitution
(2) Law of diminishing MU
(3) Law of negative returns

(4) None of these
LT ) P.T.O.
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64.

65.

66.

Wy STfTe P el aer SiEn ¢
(1) ufdeams« & oy

(2) ugd MU &1 firps

(3) s Wil w1 ey

(4) g3 ¢ B1g il

Under Perfect Competition a firm even after meurring  loss continues

production till :

(1) Price = AC (2) Price= AFC  (3) Price = AVC  (}
o] yfaaiffen & &= oy @R & arg @ yw o 89 TE s
(1) 0 = AC  (2) FMT=AFC  (3) dlid=AVC (4
Which of the following in net a feature of Oligopotly ?

(1) Smail number of sellers

(2) Absence of mutual dependence of firms

(3) Possibility of firm forming cartel

(4) All of the above

Feifaitad @ & &9 sifar o Qdmar 78t 2 7

(1) wHl & F7 e

(2) ®qf B TR e &1 anma

(3) B BRI &I (SaTE®m WH) FAH B Wl

(4) ITad Wi

Under Kinked demand curve model of Oligopoly :

(1) Price once fixed is rigid

(2) Elasticity of the upper and lower portions of demand curve diifers

et

Price

= I

U= 1C

(3) Gap between the MR curve depends on difference in clasticities ol the

upper and lower portions

(4} All of the above

(18)

1 E
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18U/101/23(Set-1)
FRER & g A1 ap Wy
(1) & = FuifRa & 73 @ g3 w8
(2) =T IF B FoY AR frae Ry @ o el €
(3) MR g% # 3vrel SO 3R Faat R @ &g ¥ R W PR #var @
(4) SUE @
[f the price of goods increases, then :
(1) Demand for complementary goods will increase
(2) Demand for substitute goods will increase
(3) Demand for the good will decrease
(4) Both (2) and (3)
7fe fredl avg o drea 4 gfg = &, o
(1) ¥ awgelt @ Ah § gfy e
(2) eI awgat @ Hi A g enl
(3) 9G TR B WA H B BFN
(4) (2) 3R (3) a0
An individual demand curve slopes downward to the right because of the :
(1) Working of the law of diminishing marginal utility
(2) Substitution effect of decrease in price
(3) Income effect of fall in Price
(4) All of the above
o T J 9w e AR A A ok AR ERl @ it
(1) dria soafar &9 Faw &/ Fwa €
(2) Fa # @ PT GRRATE FAIG T BT
(3) Hud § FA BT AW WG T BT §
(4) IR AH

(19) P.T.O.

collegedunia

—



18U/101/23(Set-1)

69. Which of the following is a characteristic of pure m{‘mopnl}f 7
(1) Low Price Elasticity of Demand
(2} Low barriers of entry
(3) C luhse subsitute products
(4) Perfect information
Ffafea % @ #9-a1 g tofor % Rk 2 ?
(1) 1= |01 @) &aa oira
(2) Wi & A W T amR)
(3) @ w@TT~ SaTe
(4) 9ot 3

70. In pure monopoly, what is the relation between the price and the marginal
revenue ?

(1) Price is greater than the marginal revenue

(2) Price is less than the marginal revenue

(3) There is no relation

(4) They are equal

UE HRER § HHd od B ST @ dg w 9EE o 2 2
(1) &md Wa s 3§ s ad &

(2) ST G ATTH § FHA B 7

(3) ®1% W T8 &ic

(4) ¥4 QER TR BT 2

71, As per the law of equi-marginal utility in equilibrium

(1) MUx/Px =MUy/Py = MUm (2) MUx/Px>MUm

(3) MUx/Px <« MUm (4) Both (2) and (3)

-l Sudif Faw & s e o

(1) MUx/Px =MUy/Py = MUm (2) MUx/Px > MUm

(3) MUx/Px <« MUm (4) (2) @@ (3) @i
(20)
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72. If marginal utility is zero :
(1) Total utility is maximized
(2) An additional unit of consumption will decrease tolal utility
(3) An additional unit of consumption will increase total utility
(4) Both (1) and (2)
af e SRR T @ )
(1) ®a Sudfar afdeaa €rft
(2) SuHIT @ H HfARET §FTE HF I § FA AQH
(3) SUHRT A UF FARET §HE BT I # gig S
(4) (1) Td (2) &

73. Which of the following is added to national income while calculating personal
income ?

(1) Transfer payments to individuals  (2) Social security contributions

(3) Corporate taxes (4) Undistributed profits
fRTa g @ T aed why FrAfeRm A E PR v e A Wer et 6 7
(1) e @ fiem ardll gvarRer amg (2) WTHITTE SRET ATTETH
(3) frm & (4) faaRa &
74. Which statement about GDP is correct ?
(1) GNP -(X-M)=GDP
(2) Nominal GDP is the value of GDP at the constant prices
(3) GDP = Wage + Profit + Interest
(4) Both (1) & (2)
GDP @ @ay & &IH—4 Y= Wal & ?
(1) GNP - (X -M) =GDP
(2) #ifEs GDP, Rer q&1f w® GDP &1 7 8
(3) GDP = qagdl + o + &I
(4) (1) Td (2) &

(21) P.T.O.
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75. The balance of trade refers to :

76.

(1) income receipts minus income payments on investments

(2) the balance of unilateral transfers

(3) merchandise exports plus service exports minus the sum of merchandise

and service imports
(4) merchandise exports minus merchandise imports
WIR e 9 JFAEE 8 2
(1) 799 W yres amms g2 e

(2) U el ExiaRo &1 Fgad

(3) T¥gs &1 Frata vd Aanedl &1 Pl o2 axgel va Jawnt & srae @ 9

(4) st 1 Al g awgs & SR

Which of the following statement is true ?

(1) New issue market deals with new securities

(2) New issue markel deals existing securities

(3) New issue market deals with listed securities

(4) New issue market deals with only debt securities
Fr=ifafaa 4 & $9- 395 gag & ?

(1) ¢ Frbm@ aomR 789 sfnforat & wry wYer owar @
(2) =a R areR A ufosfaat & e e s @
(3) 4 Fa IR IR st & e e s @
(4) @ s IreR Paa wor sl & et wvar @

(22 )

—
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78.

79.

80.

18U/101/23(Set-1)

Capital market is not regulated by :

(1) Securities and Exchange Board of India Act
(2) Reserve Bank of India Act

(3) Depositories Act

(4) Companies Act

TR arae a1 Pasie 78 2

(1) s oftegfay v R a2 sfafas

(2) e Rod 4@ afetam

(3) femfored afafrm

(1) anrn JflEH

When a right to purchase securilies is given, it is known as :

(1) Call option (2) Putoption

(3) Call and put option (4) All of the above

s wfendfamt @ wa & AReR R S @ 9 98 dEa €

(1) & fdhed (2) g2 fd@ey

(3) ®fet @ ge famey (4) ST T

The method used in the floatation of securities in New Issue Market is called :
(1) Publicissue (2) Offer for sale

(3) Placement (4) All of the above

qa Prfed aom ¥ sffd @ O e @ R i @ o e R @ Fe

_

(1) wdafE & (2) faah & fare wrame
(3) v (4) SUgE Wl
[DR stands for :
(1) Indian Depository Receipt (2) Initial Deposit Receipl
(3} Investment Depository Receipt (4) None of these
(23) P.T.&.
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Ao Bo I J YR B

(1) RE Roed wile (2) wrfdw o 39l

(3) fafam femfarest Wi (4) 34 ¥ @wig a8
81. Which one is not a money markel instrument ?

(1) Treasury Bill (2} Bill of Exchange

(3) Commercial Paper (4) Bond

BT H&T aGR BT WS T8 & 7

(1) gordt faw (2) fafam fas
(3) @S guR (4) dfvg
§2. [Ireasury Bill period is generally
(1} 91 Days (2) 182 Days
(3} 364 Days (4) All of the above
curll fae 9 safd wErgaar e 2
(D) 91713 (2) 1823
(3) 364 faq (4) Sudad &

83. The minimum maturity period for which the commercial paper issued is :

(1) 6Days (2) 7 Days (3) 8 Days (4) 10 Days

o =prad uRuada aafer & fa smidtas our orly fee snir gz &

(1) 6f&= (2) 7f7 (3) 8= (4) 10f=
84.  Which is not fixed income security ?

(1) Bond (2) Dcbenture

(3) Deep Discount Bond (4) None of these

i -0 Rerr amr uitngfa 787 & 2

(1) arvs (2) FOI9F

(3) ST Rwwsw< dve (4) T T B1E T8
85. Bond's vield, depends on

(1) Par Value (2) Coupon Rate

(3) Maturity (4) All of the above

(24 )

1 E
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86.

87.

89.

v &1 yaary ik s 2

(1) 9=
(3) aRywEge;

Short term funds are dealt in :
(1) Capital market

(3) Commodity market
ST fAf @1 der 5y 9 #

(1) goil ariR o
(3) a4 9raiR

18U/101/23(Ser-1)

(2) @Y a3

(4) IURIEd w)

(2) Money market
(4) None of these

(2) &1 AR
(4) ¥ | @I TE

The Certificate of Deposit shall be issued for a minimum maturity period of :

(1) 6 Days (2) 7 Days

(3) 8 Days (4) 15 Days

ST UHOE W 9 9 &F uRugaar @y & forg o R o @w 2

(1) 6f2=1 & farg

(2) 7= @ fag

(3) sfedi & Ty (4) 15 R+ & faw

Certificate of Deposit can be issued for a maximum maturity period of :

(1) 45 Days
(3) 12 Months

(2) 60 Days
(4) 90 Days

T yEoTgE o aifdread ufRuaadr sl @ fere ol 53 o1 wed E 98 2 ¢

(1) 45 =i @ farg
(3) 12 "eFt @ forg

Debentures are traded in :
(1) Stock Exchange

(3) Commodity Exchange
FUTH] P FREAR el 8 :
(1) &=y fagfor #

(3) awq faufdr A

A debenture does not have :
(1) Fixed interest rate

(3) Voting right

(25)

(2) 60 &=t @ forw
(4) 90 fe=t & foro

(2) Money Market
(4) All of the above

(2) =T IR H
(4) SuRIGd Tl

(2) Maturity period

(4) Priority in hguidation

P.T.0.
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91.

92.

93.

o FOE i Jgf ¥
(1) Rt envt =R (2) uRuggar af
(3) @ arfrar (4) afemmrs A grafea

Which of the following are techniques, tools or methods of analvsis and
interpretation of financial statements ?

(1) Ratio analysis (2) Average analysis

(3) Trend analysis (4} All of the above

Fefofa 4 & a4, oty oo « RQvewm g Ades @ asds. susor
spera faferat & 7

(1) I fgeor (2) 3i¥ad fAvemor
(3) vgfer ey (4) SRR W

A linancial statement that shows both rupees and percentages in the report is
referred to as |

(1) A Balance Sheet (2) A Common Size Statement
(3] A Proportional Financial Statement (4) A Relative Statement of Equity

it faavor (wfas) (ol e den wfoem SR T9ir @ & SR wee ¢

(1) R (2) HHIH STHFR F1=1 o
(3) srquids i faawm (4) THT T Wige fQavor

Which one of the following statement is not true ?

(1) Financial statements are important source of information to sharcholders
and stakeholders.

(2) Return on Equity and Earnings per share are one and the same thing.
(3} In calculating acid test ratio, Inventory is not inciuded in current assots.
(4) Debt-Equity Ratio is a measure of long-term solveney of a firm
fa=rfaifaa sl § W SF—ar v ao FFHF T ?
(1) sieenfRal vd 20 ane! @ fod s g HEHIST BT UHE WId 6n )
(2) AT IR T aUT SRS 39 UE ok s & A o &
(3) 3P TRE U @) MO Fiew §AD @1 Tl Gt A w8 afufer fre we
&l
(4) T JAIT BF B ERToID Y AT BT AGT FRAT B |
(26)

1 E
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94. Du Pont Analysis relates to:

(1) Analysis of current assets (2) Analysis of profit

(3) Capital budgeting (4) Analysis of fixed assets

g Uit fIvewyr weft g 8

(1) =rq W@l & ey 4 (2) @™ & fAgemo |

(3) Yot Tore & (4) wor$ el @ e §
g5. Inventory Turnover measures the relationship of inventory with :

(1) Average sales (2) Cost of goods sold

(3) Total purchases (4) Total assets

<Efar arad (arurd) ¥, Yefor &1 G HIOT o g

(1) 3ia fawg | (2) Rt e @ @@ |9

(3) Tel T A (4) @& FaR A

g6. Which of the following does not help to increase Current Ratio ?
(1) Issue of Debentures to buy Stock
(2) Issue of Debentures to pay Creditors
(3) Sale of Investment to pay Creditors
(4) Availing Bank Overdraft to buy Machine |
Prefafiga ¥ @ fewd w1 o |9 @ ofg & werma 78 fad & ?
(1) ©Td & HY & 73 Forgd TN BRAT
(2) WFERI & A & {39 oA S A
(3) @Rl @ yar @ ford Rffar @1 Ry
(4) 7 BY FA B o2 95 aawge o
g7. Which of the following liabilities are taken into account for calculating Acid
Test Ratio ?
(A) Trade creditors
(B) Bills payable
(C) Outstanding expenses
(D) Bank overdraft
(E) Redeemable debentures
(1) (A), (B), (C), (D) and (E) (2) (A),(B), (C) and (D)
(3) (A), (B)and (C) (4) (A)and (B)

(27) P-T.0.
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98.

99.

mwaﬁ’mﬁaﬂnumrﬁﬁﬁﬁf@ﬁmﬁcﬂﬁﬁ%@fmﬁmﬂm%?

(C) srext @g

(D) d& 3fTaRgIe

(E) fasren ==

(1) (A), (B), (C), (D) 7T (E) (2) (A), (B), (C)va(D)
(3) (A), (B) @ (C) (4) (A)Ta(B)

In a stattment of cash flows (indirect method), a decrease in inventory should
be reported as : |

(1) A deduction from nel income in determining cash flows from operating
activities

(2) An‘ '(?Qditiun to net income in determining cash flows from operating
activilies

(3) Anincrease in investing activity

(4} Not reported

Vs warg (3gcay fAfY) Rawor § 39d 8 &0 o gutar @ ks

(1) uRare fhaRil | U6 vaE o Fuior # gg 39 @ ) @ wu 3

(2) aR=ETEA s | A vae & PuRe d 98 3w 4 & @ w9 §

(3) fafyam G # ofg & v 3

(4) &8 7 (39 B)

‘Cash from Operations' or ‘Cash flow from Operating Activities' is calculated as -

(1) Net Profit + Increase in Current Assets
(2) Net Profit + Decrease in Current Liabilities
(3) Operating Profit +/- Adjustment in Current Assets and Current Liabilities
(4) Net Profit after Tax
gRardd & Aae deET TREeH fhast § e yare @ e 2 @
(1) I& o9 + =7e vl ¥ ofg gm
(2) & d™ + 9 S H & gwr
(3) FRETET AN + /- 91 Wi @ 9 <1 § e g
(4) B UIATd Y& o™ gRI
(28)
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100. According to AS-3 (Revised) purchase of fixed assets is treated as :

i1) Opcrating aclivily (2) Managing activity
(3) Financing activity (4) Investing activity
AS-3 (GNfad) & SFER, e wely &1 Hu A e §
(1) oferaa frm | (2) Favers
(3) fa<ir= fiban (4) fafarE v
101. Which of the following is an example of non-cash expenses ?
(1) Depreciation (2) Wages and salaries
(3) Rent of the premises (4) Telephone expenses
Frafaflag & @ -8 R-ATe g &1 e 2 ?
(1) &4 (2) #oTgdt U9 A=
(3) I 1 fwm (4) THHE =7
102. If:

Net Profit (after tax) Rs. 70,000.

Fixed Interest Charges on Debentures Rs. 10,000

Income Tax paid Rs. 70,000.

Then, Interest Coverage Ratio will be :

(1) 7 times (2) 8 times (3) 14 times (4) 15 times
afe

g @ (FR 9EEE) 70,000 Bo

oAl IR ReR & WR 10,000 %o

T fasar T @R 70,000 o

q, ST eI g &

(1) 77 (2) 8 (3) 147 (4) 157

(29) PO,
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Read the folloting illustration carefully and ansiwer questions from 103 & 104

Below is the information available relating to a company : —

N o — e —

| | 01042016 1032017
JInvestmenl Afc 1,02000 184000 |
| Machinery (at cost) 1,20,000 1,26,000 , l

Provision for Depreciation | 30,000 (32000 . 0 _il

(i) During the vear, the company had sold 40% of its investments held by iy
beginning of the year at a profit of Rs. 25,000. |

(i) During the year, machine costing Rs. 12,000 (accumulated depreciation Rs. 7,200)
was sold for Rs. 6,000.

fefoifad 3erever @t earqd e gled Siv v Wy 103 U7 104 &7 g7 S

Ud B W Weld See gaa Hefafaa @ 4

. 01-04-2016 i_ _31-03-2017 j

Ry @ | 102,000 - |
A (FraeR) | 1,20,000 126000 |

&% s | 30,000 32,000 |

(1) % ® AR, HEA A U 9 W ARM@ RS 8 9 400 s 23,000 @nr o ae
I

(i) @ & <N, U 79 Rraat amma 12,000 o (6f3a &9 7,200 wo) oY, 6,000 o &
a1 T |

103. What is the value of machinery purchased during the vear 2
(1) Rs.1,26,000 (2) Rs.1,39,200 (3) Rs. 18,000 (4) Rs. 6,000
o @ AR Ha B 1D g B e @ ow 2
(1) 1,26,000 %o (2) 1,39,200 %o (3) 18,000 %o (4) 6,000 T
104. What is the cash flows from investing activities ?
{1) Rs. 65,800 (2) Rs. 43,000 (3) Rs. 31,000 (4) Rs. 30,000
e frart § doe vaE g & 7
(1) 65,800 %o (2) 43,000 %o (3) 31,000 %o (4) 30,000 %o
(30)
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106.

107.

18U/101/23(Set-1)

Laven o If Gross Profit Ratio is 25%, Net Profit Ratio is 129 and Sales is

N

N=. 21600, What is the value of Cost of the Goods Sold ?
(1 Rs. 19,008 (2) Rs. 17,200

(3} Rs. 18,892 (4) Rs. 16,200

N - Wbl W AT 25% 8, Y o SFUT 12% # 3R RAma 21,600 To & A

fa@id |/ @ @rvd & g8Rl ?
(1) 19,008 vo (2) 17,200 To

(3) 18,892 %o (4) 16,200 %o

Errors in Personal and Real Accounts affect :
(1) Trading Account

2) Prohit and Loss Account

(3) Profit and Loss Appropriation Account

(4) Balance Sheet

oIfRTTE a1 aRafad @l A §s AfETl @y gsar @

(1) @R @ W)

(2) am-gifa @i W

i3) @md-elff gaans @i W
(1) free w

Which one of the following statements is false ?

{1} Closing stock given in trial balance is shown in profit and loss account

12) Depreciation affects the value of the asset
{3) Interest on drawings is an income for business

(43 A nel profit i< a liability to the concern

(31)

P10
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(1) Teive § fam mn sify @i av-af @ 3§ R @@ @
(2) e 9 & Iou &1 wafda awar &
(3) WTERT PR & gE & feu o g
(4) IE @M WY & {oi v 2fdF &
108. Sunidhi's trial balance contains the following information :

(a) Discount recerved T 1,200.

(b) Provision for discount on creditors T 1 80{1 creale a provision for discount
on creditors at 3 1,600.

The amount to be credited to profil & loss A/cis:

(1) < 1,0WD (2) €1,400 (3) T 200 (4) 22,200
AR @& geve | fmfeRaa et miie 2 -

(a) W%t BE R 1,200.

(1) TR W Be & foro dom T 1,800 SFgRI W Bve & fog 2 1,oRO w1 gy

fru |
dre-aifs T 9 Bfee anft
(i) ¥ 1.000 (2) T 1,400 (3) <200 (4) T2,200

109. The formula of calculating annual depreciation by fixed installment method i« -

Valueof lhe Asset + Life of the Asset

[} et

Residual Value
) __('v.-f-at of the Asset - Residual Value
~ Estimated Life of the Asset (in Years)
() Cost of the Asset + Residual Value
- |~- imated Life of the Assel (in ‘lLﬂI’H}
Ay = Cost of the Asset

Estimated Life of the Asset (in Years)

(32)
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%%mﬁmimﬁﬂwwma:
() TR &7 qou + @Ol &1 Wl B
A 7

o) TR B AT~ orafie Aoy
Ry @1 st ot e @@ W)
3) TG & AT + afdee T

iy @1 didfera W= drer (quf ¥)

ety #) A

Q) T = wrate S a9 )
A machine was purchased for ¥ 4,000 and it was estimated that it will work for
three years and at the end of its life its residual value will be Z 32. Find out the

rate of depreciation, if depreciation is calculated at diminishing balance
method :

(1) 70% per annum
(2) 80% per annum
(3) 73% per annum
(4) 60% per annum

U@ HOE T 4,000 ® wa @ T | TG BT A shad s I 99 8| S
@ 3 # T 32 AR qou Wik €19 @1 A AT AT Hed € &X A v
FAE WY Ggfd & IR P

(1) 70% ufy a¥
(2) 80% Wiy aw
(3) 75% ufa ad

(4) 60% wfY ad

Capital redemption reserve account can be utilized for :
(1) Writing off losses

(2) Writing off miscellaneous expenditure

(3) Payment of dividend

(4) Issue of Bonus shares
(33) P.T.O.
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112.

113.

114,

G armars wEy @y g [ S [ £
(1) = @ s W & forg

(2} fafeRr @l @) smfefEn & @ o

(3) emarer serar @ AT

(4) = yE & e @ Y

Balance of forfeited share account after re-issue of forfetled shares s translerred

Lo .

(1) Profit and Loss Appropriation Account
(2) Capital Reserve Account

(3) General Reserve Account

(4) Secrel Reserve Account

e o 2 A frfaa & yvard S 3 W B U G aAveEteE g
f2am SIT € ¢

(1) &1 va = e @e o
(2) it iy @i

(3) AP BN Wi §

(4) = WY TR H

Y

Debentures can be redeemed :
(1 Out of profits (2) Out of capital
(3) Converling into shares (4) All of these

SUIGE w1 e fhar o U B

(1) &4 9 W CIE:
(3) 319 4 ulRqdq grr () g7 0 W)

X Company Lid. purchased assets worth $ 28,580L000, The company paid th
purchase consideration by issuing debentures of $H0 cach at 47 discount. 14
number of debentures issued to vendor ol assels are

X ) o A T 28,80,000 & weafeml WA @) T e wEraa ey oo
UETB T 100 T TS @Y 4% Fe W nifda ova fear ) sa g wmed B
w) o o ot 6y 9 8

(1) 30,000 (2) 28,800 (3) 32,000 (4} 32,800

(34)
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115, Unless otherwise staled, a preference share is always presumed to be :
(1) Cumulative, participating and non-convertible
(2) Non-cumulative and non-participating
(3) Cumulative, non-participating and non-convertible
(4) Non-cumulative, participating and non-convertible
e TH AT F HET TG, T (@ISR I F SH |+ ar &
(1) gd, R 4 uRed=eia
(2) FHgdl U HrlER
(3) Eudl, IMFNER U9 JuRadTee
(4) e, wrfiER U4 SuRad-ee

116. ‘A" and ‘B’ are partners sharing profits in the ratio of 3 : 2. 'C’ is admitted with
1 /3 share in the profit. What will be the new profit sharing ratio ?

3 TAT T TS BH A 32 D AU - dfed ¥ W A 1/3 ¥ B fa
AR T WA € | -1 §es 1 a1 9w @41 8en ?

(1) 3:2:3 (2) 6:4:3 (3) 6:4:5 (4) 3:2:5
117. Joint Life Policy Reserve Account is transferred to :

(1) All the partners

(2) Continuing partners

(3) Reliring partners

(4) None of these

“yad Wiad §141 73 B W B EwraRg B o @

(1) 9 ArERT A

(2) fo=r wEERR 3

(3) IFTHTI TE $A AT HIHEGR] ®

(4) 37 A EETQ CEl

(35) PG
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118. 'X,'Y'and 7’ arc partners sharing profits and losses in the ratiwo ot 175, 13 and
7/15 respectively. 'Z' relires and his share was taken up by X" and 'Y in the
ratio of 3 : 2. What will be the new ratio ?

XY qU 2 WeER € S =g e fawer @ 1/5, 1/3 901 7/15 @ SO

HOBYC 8 7 EETS eV Rl € R I9e R @K WY A 302 @ sivjurd A
T | U1 U A @rm ?

(1) 11112 (2)-12:13 (3) 12:14 (4) WJ:i2

119, An amount of T 1,000 is debited twice in the Pass Book. When overdraft as per
the cash book is the starting point, then :

(1) T 1,000 will be deducted
(2) T 1,000 will be added
(3) T 2,000 will be deducted
(4) ¥ 2,000 will be added

21000 urrgd ¥ B AR Sfde farn | e Aas qeaw w1 et geand g
g, ar |

(1) T 1,000 931 ST
(2) % 1,000 AST AT
(3) ¥ 2,000 9erar |

(4) T 2,000 W€ A

120. Bank balance as per cash book is T 18,500, ¥ 4,500 is entered in the cash book as
paid into bank but not credited by the bank. The bank pass book balance i :

NHS [ B IJIR 9% Y T 18,500 2 | dwe QWS F T 4,500 dF 4 77 B w4
i gfare f&) w1 afeT 95 3 Bfee 98 ) §@ ow g d

(1) ¥22,500 (2) ¥23,000 (3) ¥ 14,000 (4) ¥ 18,500
121.  To create "Manufacturing Hub", the programme is :
(1) Start up India (2) Stand up India
(3) Skill India (4) Make in India
(36)
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AYHFERT T B Y B S B -

(1) e am sftem (2) ®Rve Iy e
(3) Raa gfoem (4) o 39 3fewr
The full form of GIP is :

(1) Gross Industrial Policy
(2) Global Investment Policy
(3) Green Industrial Policy
(4) Gross Insurance Policy
GIP &1 g %9 2 :

(1) gra gegad g

(2) Telrad gavede vifer

(3) ¥ gefgae difesd

(4) 7 gean iR

U.P.’s Khadi & Village Industries Board has signed a pact to facilitate online
selling with :

(1) Flipkart (2) Amazon India
(3) Ebay (4) Snapdeal
IR 29 B Wi g AT e @ A arrengA fast age gy afdy fan 2
(1) ETse 4| (2) apya gfogar 9
(3) 34 9 (4) ol 9
(37) PTO
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124, Anindividual has to pay income tax during the year 2017-18 and 201819, when
his/her income exceeds :

ve arfed ad 2017-18 U9 2018-19 ¥ AT 291 Wa IAH!T FG AL

(1) ¥ 3,50,000 (2) % 3,00,000 (3) % 2,00,000 (4) T2,50,000
125. The Chairman of GST council is :

(1) Arvind Pangadia (2) Rajeev Kumar
(3) Arun Jaitley . (4) Narendra Modi

W T & geg @ 3pue #
(1) srfa= wamfea (2) woha AR
(3) STV SrEA! (4) T A

126. NSE-50is now renamed as :
(1) Sé& P CNX Nifty (2) DOLLEX
(3) BSE SENSEX (4) BSE 200

U9 UF 3-50 T ATH dCaH &1 T 8§ ¢

(1) & e §f ) = gag fAed (2) Sieray

(3) & TG 3 9=IR (4) &1 TF 3 200
127. The Chairman of 15th Finance Commission is :

(1) Anoop Singh (2) Arvind Mehta

(3) N.K. Singh (4) Shaktikanta Das

UEd a9 manT & amae §
(1) 3y ¥ (2) IRf= wea
(3) THo @o s (4) oiddarT T

(38)
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128.  Which of the following rate is not controlled by Reserve Bank of India ?

(1) Cash Reserve Ratio

(2) Cess

(3) Repo Rate

(4) Statutory Liquidity Ratio

Fred 34 4 @ A & dl-ar wedia Rad do gra Frafa 78 far smr @ 2
(1) STRIET F&HS AT

2) ST

(3) Wl =

(4) TenfAsd TR I

129. Balance of Trade includes :

(1) Goods (2) Services

(3) Transfer payments (4) 1and 2 both
MR G H Wi &

(1) e (2) Warg

(3) BRI (4) 1= 2 !

130. A cube of side 5 ecm is painted on all its faces. If it is sliced into 1 cubic
centimeter cubes, how many 1 cubic centimeter cubes will have exactly one of

their faces painted ?

¥l 5 cm T (@ g9 & W Berdl W Ue fhar e 2) aft 39 1 g ade
are A A e forar WIg, o) fhae 1 gaNeney g4l 3 86 U had Ue fhar qw
gn ?

(1) 27 (2) 42 (3) 54 (4) 142

(39) P.T.O.
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131.

132.

If the height of a cylinder becomes ; of the original height and the radius s

doubled, then which of the [ollowing will be true ?
(1) Volume of the cylinder will be doubled.
(2) Volume of the ¢ylinder will remain unchanged.

{3) Volume of the cvlinder will be halved.

(4) Volume of the cvlinder will be }i of the original volume.

aﬁmﬁaﬁ?ﬁmmmaﬂi?mwﬁmmﬁmma\
s 3 @ &9 |y Bem 7

(1) 35 &1 HFdA R 8 A
(2) &7 @ JgaT 7 B2 oRads & BNI|

(3) d5TH @1 P ™ BY TCAT

(4) WWWWW&H%?{WI

The dimensions of a godown are 40 m, 25 m and 10 m. If it is filled with
cuboidal boxes each of dimensions 2 m x 1.25 m x 1 m, then the number of

boxes will be :

U TTIBR TRTA B fAET 40 m, 25 m 3 10 m &) 398 oaman e W o
R ATRS P RN 2 m x 125 m x 1 m & 79, 3@ o1 993 o Rai
e gt

(1) 1800 (2) 2000 (3) 4000 (4) 8000

(40)
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133.  The ratio of radii of two cylinders is 1 : 2 and heights are in the ratio 2 : 3. The
ralio of their volumes is :

<1 aeret @ FBromal &1 orqua 1 2 @ T A HA1gA B FUE 2 ;3 F) I
FTTAAT T AFATT BT -

(1) 1:86 (2} 1:9 (3) 1:3 (4) 2:9
134. Ramesh has three containers.

(A) Cylindrical container A having radius r and height i,

(B) Cylindrical container B having radius 2r and height % , and

(C) Cuboidal container C having radiusr x r x i

The arrangement of the containers in the increasing order of their volumes is
(1) A.B,C 2) B,C A

3) C,A,B (4) Cannot be arranged

e & urg s 999 €
(A) fear 3R 918 harel TP daTaR dd A,

(B) = 2r aiik &ard gmﬁﬂmﬂaﬁ?&&ﬂ?

(C) famaft r x r x h 9161 (& GAMI@R a1 C

&5 qd B §9 FYTHl B WTUR AN HH H TRAT ¥ —
(1) A,B,C (Z2) B,C, A
(3) C,A,B (4) @afRed 98 &3 o9&

135. The present age of father is four times the age of his son. After 10 years, age of
father will become three times the age of his son. Find the present age of father :

fyar @) gdu™ g I gF @ A B AR A 8 10 T 92, far # g s
ﬁﬁmﬁﬁawﬁmlﬁmﬁﬁmmﬁmm:

(1) 80 (2) 60 (3) 96 (4) 74

(41) PTO.
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136.

137.

' 38.

139.

i |

. Sy ZX . -
If —-4= =, then the numerical value ol 2y 718
3 5

s 5 2x :
e %-4—%, W 2 ~-7 B A E -
[y 13 13
(B == Q) == 3) 0 1)
> s () G 19

Arpilas present age is thrice of Shilpa. If Shilpa's age three vears ago was 1
then Arpila's present age is :

afften @7 FoE ST fer=mr & Sy @) %’I‘:ﬁ g1 af? 3 9 wwa Rrar 3 Y X A
A A T B aduE 3T €

(1) 3y -—3) (2) 3xr+ 3 (3) 3x-9 (4) 3y +3)

A sum is taken for two vears at 16% p.a. [f interest is compounded after ey ery

three months, the number of times for which interest 1s charged mn 2 vears is

1‘1‘4' ("-T:Nﬁeh E‘T aﬁ EF’- ﬁ"Ti' 16" nliﬁm o e ﬁ JEIN A TT?Y'H e AT A T;'"':‘ .‘e"“: AR
qle WSt o7 & At g 99 ® fhae ar «rs forar war ?
(1) S (2) 4 (3) 6 (4) 9

Avinash bought an electric iron for Rs. 900 and sold it at a gain of 10%. He wld
anuther electric iron at 5% loss which was bought Rs. 1,200, On the transaction

he has a
(1} Profit ol Rs, 73 (2) Lossof Rs. 75
(3) Profitof Rs. 30 (1) Loss of Rs. 30

AN 4 g fawren B FEN 900 To H WAAT AR 36 10% @9 R g9 fam ve
T faoreh 3 SR o 99T 1,200 o # WA ot 5, @f w am A T v v
RI g

(1) 73 %o &1 &A™ (2) 75 %0 &) g8
(3) 30 %0 G AH (4) 30%c T wf4
(42)

1 E
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140. Radhika bought a car for Rs. 2,50,000. Next year its price decreased by 10% and
further next year it decreased by 12%, In the two years overall decrease per cent
in the price of the car is :

MEFET A UH SR 2,50,000 F TR | AT I IAST HoA 10% BH & 747 dR TEG
T AW 12% HH B T FR & o4 H 39 &) 91 ¥ g8 oo wfaed oE 2

(1) 3.2% (2) 22% (3) 20.8% (4) 8%

141. 6 men and 10 boys can complete a work in 4 days or 4 men and 10 boys can
complete that work in 5 days, then find in how many days 2 men and 5 bovs
can complete that work ?

U B BT 6 AT UF 10 TsD 4 7 A o wwa & W I W B 4 e wE 10
ded 5 @9 4 QU R WHo &, A T PR fb 2 e 1@ 5 oD 9 I @
foem fos 9 g1 &3¢ 7

(1) 8 (2) 10 (3) 12 (4) 11

142. The value of x that satisfies the equation x+7 - T is :

Y &1 Heg S {HIEOT I+7-—-83I =]t:-58't & e FAT B

(1) 3 (2) -3 (3) 4 (4) —4

143. Length of a rectangle is 5 cm more than its breadth. If the area of rectangle is
50 cm’, then find the length of rectangle.

UE Fgd @ TETE S9d) drers ¥ 5 At e #) ofd amad & gawe 50 I 2
O afgd &) AMIS STd BT |

(1) 10¢cm (2) 11 cm (3) 12cm (4) 12.5cm

(43) P.T.O.
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144. A rectangular paper of length 100 cm and width 44 ¢m is revolved along 3ts

145.

146.

width and a cylinder is formed. Find the volume of cy Imder =

TFR

——

100 ¥EHex TwTE wd 44 derier Hield I AR BT @ mets H IF
A Aredy Ryover @ Aigpfy A W B o &) Rewst @ e sid DI

-3)

(1) 3080 cm?

(3) 12320 cm?®

ISP stands for :

(1) International Service Provider
(2) Internet Shopping Provider
(3) Internet Service Provider

(4) International Service Processing
[SP &7 vl %9 @ :

(1) F=TEFa Afd| MargeR

(2) 3=exAe Vit WageR

(3) gexe 9fdq veE

(4) g Al W

What is Linux ?
(1) Input device

(3) Operating System

(44)

(2) 4400 cm?

(4) ‘1 5400 ¢m?

(2) Storage device
(4) Output device
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AETR R/ R 7
(1) gz e (2) werd feargw
(3) sRfen Rieew (4) 3m3cye f¥aEy

Among the following which is not an operating system ?

Fafafiaa 3 | #19 TR ey 78 & ?

(1) DOS (2) UNIX

(3) LetEx (4) Ubuntu

Which of the following is correct sequence of smallest to largest unit of storage
size?

(1) Petabyte, Kilobyte, Megabyte, Gigabyte, Terabyte

(2) Kilobyte, Megabyte, Terabyte, Petabyte, Gigabyte

(3) Megabyte, Terabyte, Gigabyte, Kilobyte, Petabyte

(4) Kilobyte, Megabyte, Gigabyte, Terabyte, Petabyte

T B W w0 T R ET @ #6 A Prefred § ¥ el ag e
27

(1) Yerarge, facarge, #mage, Mmre, e

(2) foreiange, WmeETge, CNEEgE, Yenmge, fmenge

(3) #mETEe, <XETge, ArTEge, fhdErge, derarse

(4) fremage, wmerge, MrmETge, CEEe, YeEEe

(45) P.T.O.
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149. In MS-Excel, "=SUM(B1 : B10)" is an example of :
(1) Function (2) Formula
(3) Cell address (4) None of these
MS-Excel #, “=SUM(B1 : B10)" &% # by v Iamexer & 7
(1) Ha¥™ (2) wiFe
(3) & oW (4) % | &g AE
150. The standard protocol of the Internet is :
(1) TCP/IP (2) Java

(3) HTML (4) WWW

gewe IR Jgad 819 Il WS HIeidrd 2

(1) M A/ a8 @ (2) AT
(3) Ta <t UA 1A (4) s&y sy s@y
(46)
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10.

11.

¥

14.

apafdfat @ fag e

2 aftdaE $ Ger HIERULYR WAl MoTHNRo FTR-TF @ &l Yt R I Aeh /BTl

qa-arge o 4 8 R

19 yRas fAeR & 30 %iddﬁv«:eﬂmé?wmﬁiﬂww?mﬁ&ﬂh‘ﬁi
.15‘131mmmmmmz@mmwmﬁhmmww
?T?Hﬂgf“mﬁimﬂmél

e Wa A FATEUH & JfAfed, g A ST Hig N G BT Wik 8 4 FH|

OMR TTR-TF 3% & faam T &1 g 7 af A2 o 7 & fga & U OMR FiR-73 78
Zay G I OMR Jav-y3 &I & Tewed [Fa adini

Fmv fra R ) i @ Rt @ Fe /A Ie-gge i Qe |

mmm.wﬁnmqsmﬂﬂﬁmwﬁuﬁawﬁwwﬁm:ﬁﬁaﬂqﬂ’r
F MeT B 2| -l AT 8 TEl WeE-gRaET @1 HAG aYl Ve I Ty Sfug v
R ford |

o THo ¥Ro SR-UF WX FJHHIG W, WEI-YRa@ e 4 we uwn @ik e e aen
Yl-yRdadl U HqpHie @ R o THo HNo TIR-YA Wl @ widfed A aniEad &
CECIRIGES

auad ufafedl 4 @€ ff wRads da Ales g gl g9r wfed suwr ¥ U sfea
qmE & T AT S

se-gRa@ WS W @ IR dofeus S QI T 8| AP FE $ dBfNE ST 6 o
@ OMR aﬁ?a's'aa?W&waﬁﬁa%Wﬁ???mgﬁaﬁwmzﬁnww mn ey
FIETl & JFa drd-dige 04 9 el &l 2 |

HUa UH g BI STYOl WA TR gE TR TAd HAT AR |

i @ [ Uk AR WIE ZIN SIdE Gav agon J8 o wear &/ A a9 R g @ 9w
T8 2 A € @ wRfud ufdd & wrm R T o g B @l U8 | T g w o
¥ ol @ |

W oAH @ ol W jfRad @ qETR @ Y 9 S a9 sfim @l ge @
TN H |

e @ YU et Ao YHo R TER-UFH NI B /¥aH ¥ e # amvn dly
<1 wafe J=iRiEl Y weA-gRae @R e THe HRo TTR-UFS @ F U WY & o
@ A 81

spaell ol qllen HATE W Q gRE 9 W9 ¥ e 919 & SFE TR et

ale @rg puelt oden ¥ aEfIa W &1 9O eedl @, @ a' RwefEem g B o
&1/ @ qrf g /B
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